
axial torsion

Od = 33.7 mm P (N/mm2) fx (N) fy (N) fz (N) mx (Nm) my (Nm) mz (Nm)

t = 2.6 mm 2.275 mm 1.275 mm 1.6 mm 2.6 0 0 -39 0 39.2 0

mill tol = -12.5 % = -0.325 mm

corro = -1 mm

id = 28.5 mm 29.15 mm 31.15 mm 30.5 mm

no red  -mill  -mill-corr  - corr

CSA = 254.03 mm2
224.60 mm2

129.88 mm2
161.35 mm2

Z = 1835.44 mm3
1654.01 mm3

1014.57 mm3
1236.44 mm3

hoop stress = 14.25 N/mm2
16.66 N/mm2

31.76 N/mm2
24.78 N/mm2

Axial stress 1 = 0.00 N/mm2
0.00 N/mm2

0.00 N/mm2
0.00 N/mm2

Axial stress 2 = 6.53 N/mm2
7.73 N/mm2

15.26 N/mm2
11.77 N/mm2

6.53 N/mm2
7.73 N/mm2

15.26 N/mm2
11.77 N/mm2

bending stress = 21.36 N/mm2 23.70 N/mm2 38.64 N/mm2 31.70 N/mm2

Torsional stress = 0.00 N/mm2
0.00 N/mm2

0.00 N/mm2
0.00 N/mm2

sif = 1 1 1 1

code stress = 29.78 N/mm2
33.33 N/mm2

55.82 N/mm2
45.39 N/mm2

C2 = 29.2 N/mm2
44.81 N/mm2

diff = 0.58 N/mm2
0.58 N/mm2

8.4  = pcdo/4en pcdo/4en = 13.7

7.8  = ((pcdi2)/(do2-di2))+(Pc/2) ((pcdi2)/(do2-di2))+(Pc/2) = 13.1

0.6 N/mm2 0.6 N/mm2

29.2 N/mm2 - using 7.83 N/mm2 44.8 N/mm2
 - matches C2 exactly now! - 

 - difference because C2 uses the alternative pressure term - 


